Manipulating Surds
Simplify

(@) 43+2v3  (b)4V3-2V3 (Q>6J—3 (bd 2J3

(c) 2V3-43 (d) 23— 45 (c) “25 Cd) NO’FPCSSHQ
(e) -4VZ+2v2Z  (f)V2-2v2 (e) -2J2 (F> "J—Q—-

(9) 6V5 +2V5 — 3v5 () 5%

(h) VG- 243 + 743 (N 613

Expand and simplify where possible (q) \O-\—5J—§> (b)2\E3 +5
(@)52+V3) (b)) V5(2+V3) )ie s G E -si3
€ B:2-9) @562 ey 3l qiE SENDIEE
(O VEWE-7)  (NV3E@+V3) () 10[3.+5[6 (22 +5
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7"';X7pand and simplify where possible (q) 5 g 35:9;
(@) @+V3)(1+V3) ) 1 L 4 e

(b) 2 +V3)(4+V3
| (c) 5—-v5)(4++5)
| (&) 3205
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(e) (1+2V3)(4—3)

(f) (2 +3V5)(4 - 2V5) (F> -22 +%\FE—§

Calculate the areas of these shapes, (O‘B <q L5 4J_S> CrY\Q.

giving answers in their simplest form

2X
(a) A square with side length 2 + 5 cm (b> (\I——:I ‘\"E\ X an

(b) A rectangle width length v7 cm and (C‘.) < C_rY\Q‘
width 1+ V3 cm

(c) A triangle with base V8 cm and
height 2v8 cm




